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General
R = 82.03 cm3.atm/mol/K
V = 117.97 cm/sec
Diameter of the particle, D = 1 cm
Pressure, P  = 1 atm
Tg = 1000 K
Density  
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Mwt H = 1 gm/mol
 H2 = 1.22 e-5 gm/mol
Mwt. H2O = 18 gm/mol
 H2O = 0.000195 gm/mol
 =  .0001 gm/cm.sec
Diffusivity H2, Diff H2 = 10.82 cm2/sec [1]
Diffusivity H2O, Diff H2O = 2.83 cm2/sec [1]
Reynolds #   
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Re H2 = 14.28

Re H2O = 228.49

Schmidt # 
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Sc H2 = 0.758

Sc H2O = 0.181

Mass transfer coefficients 
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k H2 =  44.012 cm/sec
k H2O =  20.185 cm/sec.

Suggested Values : Same as above.
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